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Always positive or always negative questions
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Ans[image: ] (The ans here is wrong. If curve needs to be always positive, then coefficient of x^2 must be +ve, so (p+6)>0, p>-6. So you can only accept p>2 as ans.
[bookmark: _GoBack]4 [image: ]
[image: ]
Ans: [image: ]
[image: ]
Ans: [image: ] or [image: ]
4)[image: ]
[image: ]
[image: ]
Ans: [image: ]
6)
[image: ]
Ans: -1 < k < 7
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Show questions (1 curve)
[image: ]
[image: ]
[image: ]
[image: ]
Ans: [image: ]
Show questions (1 curve 1 line)
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1. Find the values of ¢ for which theline 2y = x+ ¢ is atangent to the curve y= :c+E 31
x
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c=18
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‘The straight line y = 2p +1 intersects the curve xy=x"+ p’ at two distinct 3]
points. Find the range of values of p.
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)
A curve has the equation y =3x +cx+9+c, where ¢ is a constant.
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In the case where ¢ =2, find the values of m for which the line y = mx +8 is

a tangent o the curve. B3
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(@) m=8 or -4




image12.png
7
Find the range of values of m for which the line y - mx =3 meets the curve

y=d+2x+xt. 4]

m<0, m=4.
Ans:
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9)
Find the values of p for which the line =4~ px is tangent to the curve
y=x'+2x42p.

p=6 or

Ans:

4
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(i)

Ans:

Find the range of values of k for which the line 3y =x— k does not meet the
PR

curve =4 2
3
k<=6 or k>6




image15.png
@

Find the range of values of p for which the expression (p +6)x" ~8x+p is
always positive for all eal values of x.

“
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?("9 or ‘,>‘),
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The curve has the equation y = 2x* —5x +k , where & is a constant.
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Find the range of values of & for which y > 0. 2]
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6. Find the range of values of m for which the curve y=(m+1)x* +3m+2mx+2 is always
positive. 4]
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m>——
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m <=2 (rej)
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@) Calculate the range of values of k for which 3x? + kx +7 > 4+ 2x for all 3
values of x.
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-4<k<8
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5)
Acurve has the equation y = 3. +cx+9+c, where ¢ is a constant,
@ Find the range of values of  for which the curve lies completely above the.
x-axis. 31
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(i) —-6<c<18
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(b)  Find the range of values of k for which the graph of y=x" + (3~ k)x+ 4 lies

entirely above the x-axis. 6]
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(b)  Find the range of values of q for which the line y = gx + 6 docs not meet the
curve 2x! —xy=3. 8]
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q>5
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(b)  Show that the equation x~ —(3—&)x+4 =4 has real roots for all real values of
k B3]
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The equation of a curve is given by ¥ = x* + 2ax + 2a — 3, where a is a constant. Show
that, for all values of a. the curve intersects the x-axis at two distinct points. 4]
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10)

() Show that the equation (2m + 1)¢% + Sx~ 2m + 4 =0 has real roots for all rcal .
values of m. )
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1)
(3)  Find the range of values of p for which x* +(p +3)x+4 > Tx+p 61
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0<p<a
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®)  Show that the line y:f'%klﬂl@mﬂh)l’:cmey‘:xfmlﬂrul

values of k. &)
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! The equation of a curve is y = 2x* ~6x+ & , where kis a constant.
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(i) Inthe case when k =10, show that the line y+2x=8 is a tangent to the curve. 31
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(¢) The curve has the equation y = 2x* —5x + & , where k is a constant.
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In the case where & = —10, show that the line y =-x—12 is a tangent to
the curve. [2]
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6)
(a)  Show that the line y =4x+m meets the curve y =mx’ —2x -6 for all real

values of x. 3
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1 () Determine the set of values of & for which the equation k(x — 2) = x* — 3 has real and

distinct roots. 41
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k<2, k>6
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A curve has equation y* = —4x and a line has equation y =m(x—1). Find the
range of values of m for which the line y =m(x-1) intersects the curve y* = —4x
at two distinct points.

(5]




